Expanding Brackets with Surds
[ I3 a=4,b=3
'] (a) Show that (5 — V12)(2 + v/3) can be (q) 4'+ S )
| written in the form a + Vb where a and b
| are integers. (b) %\ri - 20 o :%,b = = D)
| (b) Show that (6 + v2)(v/8 — 4) can be

written in the form av2 + b where a and b
are integers.
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(©) Show that VAWAZ= R enibel (@) 1643 2 FNCERICHoERS G

written in the form a3 + b where a and b
are integers.

(@) Show that (5 + VE)(VZD- )3 —V8) (k) 2[5 ~40 & =24 D=0
can be written in the form a5 + b where
a and b are integers.

(e) Show that (1 + v8)? can be written in (6-) ‘25+ 22@ P=2'5

the form p + \/E where p and q are = 25 —+ I qg_)% % = 0168
integers.
(f) Given that BT (F) LS ! b = i

(a++6)(10 —V6) = 24 + b6

find the values of the integers a and b.
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| (g) Given that
(5-V8)(3—av2) =b-21V2

find the values of the integers a and b.

(h) Given that (h) P'—‘ 4 : %-: é
(p+29)" =40+ 16/q

find the values of the integers p and q. . £ —
) |(\) O.,— 5 ) b 1 88
(i) Express (6 + V3)(a - 2v3)(4 - V12)

in the form b — 7613 where a and b are

integers to be found. (d) P = 7 ; %" 1 2

(j) Given that

(p+a)(p-3/q) = 13- 14/q

find the values of the integers p and q.




